
ESTRUCTURA : GRUPO RUEDA TRASERA	
 

GRUPO RUEDA TRASERA 

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 

Ref. Título Código

- RUEDA TRASERA COMPLETA ALEACION 125-80025

1 ARO DE LLANTA TRASERA 130/60 - 13 52-41203

1.1 LLANTA RUEDA TRASERA 1,6X17 52-41203-1

2 CUBIERTA RUEDA TRASERA 130/60 - 13 52-41271

3 CÁMARA RUEDA TRASERA 130/60 - 13 52-41272

4 EJE RUEDA TRASERA 52-41212

5 CORONA 36 X 428 52-41241

6 TORNILLO M8X30 52-GB/T70.1

7 TIRA CADENA 52-53310

8 TUERCA M6 52-GB/T812

9 ARANDELA 6 52-GB/T95

10 ARANDELA 6 52-GB/T95

11 BUJE DISTANCIADOR RUEDA TRASERA 52-44214

12 DISTANCIADOR INTERNO RUEDA TRASERA 52-41204

                        1 / 2

https://cprrepuestos.com.ar/images/stories/virtuemart/product/grupo rueda trasera8.png


ESTRUCTURA : GRUPO RUEDA TRASERA	
 

Ref. Título Código

13 PROTECTOR DE CADENA 52-41249

14 TUERCA M6 52-GB/T812

15 BUJE DENTADO 52-41243

16 PORTACORONA 52-4124A

17 RETEN 26X40X6,5 52-41251

18 RODAMIENTO 6230E 52-GB/T276

19 PLACA DE SUJECIÓN 52-41248

20 RODAMIENTO 6301-S 52-GB/T276-1

21 MANCHON PORTACORONA 52-41202-1

22 MAZA RUEDA TRASERA 52-41201

23 COJINETE IZQUIERDO, RUEDA TRASERA 52-41213

24 TUERCA M12X1,25 52-GB-T6177

25 CORONA CON PORTACORONA 125-80050

 

 

 

 

 

 

 

 

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        2 / 2

http://www.tcpdf.org

